EARAROBREBRT —5 XN—ZXBISH—F

2021510888 (&) 3EEH4E

BT SHRC A4 SRR BRI T
[AXE%€] 17%&:270,00 3 ~ 2%&:81,00H  3&:41,000H  437%:27,000 " . 53%&:14,000 M
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
- pree— 28 53 3| - HERIGES (54
1 R rPES M ESt "3RS 1(2_8)7 o3 | 83 1 (4_625; ;‘%K%Eﬁ )
RFVYH/FEFE BiAIUTVFU—T TOFHhT7—Ls
=) == 3 A3 _E3hia :30. -7-5- . - HEER (51
2lglg| TRrEZ= /L AR R A Y5 e
RIIVIATA—H— B:NLYIO IIISTF— L
_ 9 4t 4 | NOEEES— 1:30.7 4-4-6-6 | 40.2| — 5 48 | EFHET ()
3/5|5|O0—ALATVT 54.0 a1 1/2 (+4) | SRS
RIN—ANR BRARYIL—Y NE s
—3 to8 | RIE 1:30.7 5-6-7-5 |39.8| - 6 | 436 |JIIB3LE (85
4B 2 | AEY—Ta2xX 252.0 (\F) ) | S ¥uo57
RiFAITATv— BAEU—=INT 47 bk e
—t~))° " 3 | BERHE 1:30.7 3-3-2-3 |40.4| - 3 | 475 | BEEZR (B
5/gl9| h—EBVNKNUYD 56.0 N\F) “1 B )
Rib—EYI7Y L B:7rYIOT7=— BRE|t IRF«4T77—L4
=~ s4 | LK 1:31.2 2-2-1-2 411 - 2 | 464 |INBBLE (A
61111 S27—=)b 54.0 21/2) 4y | (B BiEws
R:7RIAV L= B:T4—)LYAN\—h BiERS
> 3 tv 6 | AR 1:31.3 8-8-8-7 |39.7| - 7 | 419 |EBHES (&)
717|7/70-U=y—5 56.0 ) o |.® 7!'\—1;\7’
RiT4IRI—EY B:FVFEVS #BT7—L
IS : -8-9- = EAE— (S
8 3 *9 A4 v hItA N1 5%.0 1.(393).2 9-8-9-8 | 41.0 8 (5:22) i 3
RZANAF1—I B:YI/UTI AR
NOEERIAE :40. -1-4- . - EIESR (f1)
o6 FavTAxA7 LR g | T 0 PO emEr
Rivavrvhvy #:E7v3 BRI 7—L
@ 11— —‘@BIEfI
13—7F— 6,1,9,5,2,4,8,7,3
20—7F— 6,1,9,5,4,2,8,(3.7)
31—7F— 1,9,4,6,8,5,2,7,3
40—7F— 4,1,9,8,2,5,7,3,6
o ILRE
BB 4 1M | | 914K 4-8 270 & 4-8 140 3EE 4-5-8 1,750
B B 4 120 4-5 410M 5B E 4-8 730 3EE 4-8-5 5,900/
8 210M4 5-8 1,080/ =51 4-8 9804
5 280

ABIC OV TRUTEREERRODDZE. THRIIZEL.




